Problem Solution #2

Calculation:

a. RG 58A/U:  
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    They are almost the same as the lumped circuit transmission lines in the lab.

    To model a 4 meter section of the cable,
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    so we should choose 
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    20 sections:                  
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    80 meters of RG 58:    
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    It’s almost equivalent.

b. 
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    Since                     
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    For the RG 58 A/U cable, 

              
[image: image28.wmf]7108

112.51101.02101.9810/

ulcms

--

==´´´»´


    The time delay for the 4 meter section is,
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    Substitute    
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    into transmission line equation  
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   The characteristic impedance of the cable is,
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